

$$\text{Max bei: } \log a + \frac{1}{s-1} + \frac{D'}{D}(s) + \frac{1}{s} = 0$$

→ Resultat:  $\square$

Interpretation:

$$\text{Nimm an } D(s) = D(1-s)$$

$$a_0 = \text{Res}_{s=1} D(s) = -\text{Res}_{s=0} D(s)$$

$$\text{oder } g(s) = D(s)s(s-1) \text{ holom., } g(0) = a_0.$$

Nimm an  $G(s) = \log g(s)$  definiert und

$$\frac{G(s) - G(0)}{s} \leq G'(s) \quad (\text{da } s > 1)$$

damit aber

$$\begin{aligned} a_0 = \log g(0) &\geq \frac{G(s) - G(0)}{s} \cdot \exp(s G'(s)) \\ &= (s(s-1) D(s) \exp(-1 - \frac{2}{s-1} - s \frac{D'}{D}(s))) \cdot \end{aligned}$$

$$\log a_0 \geq G(s) - s G'(s)$$

$$= \log [s(s-1) D(s)] - \left( 1 + \frac{s}{s-1} + s \frac{D'}{D}(s) \right)$$